11.30 Shift-and-add multiplier in VHDL

entity MULT is

port(A_Port,
B_Port: in bit_vector(3 downto 0);
M_Out: out bit_vector(/ downto 0);
CLK: in CLOCK;
START: in BIT;
DONE: out BIT;

);
end MULT;

architecture Shift Mult of MULT is

begin

process
variable A, B, M: BIT_VECTOR;
variable COUNT: INTEGER,;
begin
wait until (START =1);
A := A_Port; COUNT := 0;
B := B_Port; DONE <='0";

M := B"0000";
while (COUNT < 4) loop
if (A(0) ='1'= then
M :=m + B;
end if;

A := SHR(A, M(0));
B := SHR(M, '0");
COUNT := COUNT + 1;
end loop;
M_Out<=M & A;
DONE <=1
end process;

end SHIFT MULT;



